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Quiz charter
	· This quiz contains 8 questions
· The duration of the quiz is 40 minutes.

· The quiz is close-book:

· Paper documents are not allowed.

· Electronic devices are forbidden.

· During the quiz, an absolute silence is required. All kinds of communication with the other students are strictly forbidden. 


Student identification
	Name: …………………………………………………

ID: …………………………………………………….

Signature: ……………………………………………..

- By signing this form, the student recognizes that he/she understands and accepts the rules mentioned in the quiz charter. He/she recognizes also that if he/she does not respect these rules, the professor will take the appropriate measures including exclusion from the quiz - 


Q1: You have a report that it take to much to display the result, what action you have to take in order to analyze your problem:
A. ( Add new index on the big table of your report
B. ( Use horizontal or vertical partitioning if it is applicable on the report table
C. ( Trace the sql
D. ( Add view or staging table to speed up the execution  of the report
Q2:  Give 2 inconvenient of using a denormalization in the database?
A. (…………………………………………………………………………………………….……
…………………………………………………………………………………………….………….
B. (…………………………………………………………………………………………………..
…………………………………………………………………………………………….………….
Q3: You have 2 tables:
Product_Category Table: It contains  the types of product (4 attributes and 10 rows)
Product Table: It describe a single product (50 attributes and 5000 rows)
A product belong to only one product category
A  product category can have many products
Most of reports display the product and the product category at the same time
What is the strategy to optimize the reports of the products?
A. ( Denormalization using generalization 
B. ( Denormalization of the third normal form.
C. ( Denormalization using partitioning table.
D. ( Denormalization using repeating group.
Q4:  You have a product table with 50 attributes and 1000 rows. 

The Product_id is the primary key of this report and the product_category is an index in this table
You have a report using this SQL
SELECT product_name, product_category, Price, Unit_of_measure
FROM Product      WHERE product_category = ‘M’

The report is doing a full scan on the table Product. What could be the main reason for this?

A. ( The index could not be not use because we exceed 20% of delete in this table
B. ( We did not use the primary index to get the information
C. ( The condition of the WHERE is testing on NONE numerical value
D. ( Since there are only few products, the DBMS decide to access sequentially the table
Q5: You have a SALES table:

The table have 30 attributes and 1500.000 rows

The sales are done 4 countries Saudi Arabia, Qatar, Bahrain and Kuwait

95% of reports where the sales are involved are by country

What kind of optimization we can do?

A. ( Denormalization using generalization 
B. ( Denormalization of the third normal form.
C. ( Denormalization using vertical partitioning.
D. ( Denormalization using horizontal partitioning.
Q6: You have 3 tables
Product table. Contains all information about a product (5 attributes and 5010 rows)

Service Table. A service a special product (5 attributes and 10 rows)

Material Table. A material is a product (15 attributes and 5000 rows)

What kind of optimization we can do?

A. ( Denormalization using generalization 
B. ( Denormalization of the third normal form.
C. ( Denormalization using partitioning table.
D. ( Denormalization using repeating group.
Q7: You have 2 tables
Product table (50 attributes and 5000 rows): Product_ID, Product_category, Product_name, Inventory_ID,..
Inventory table (4 attributes and 300 rows): Inventory_ID, Department_ID, Store_ID, Section_ID

Using the inventory_id we can localize where the product is stored.

Mainly all reports which display the products, display also information regarding the storage of the product.

What strategy you suggest to optimize the reports
A. ( Denormalization using generalization 
B. ( Denormalization of the third normal form.
C. ( Denormalization using partitioning table.
D. ( Denormalization using repeating group.
Q8: You have a PRODUCT table which contains 80 attributes and 1000 rows
35 of attributes give general information about the product
45 attributes give technical description of the attributes

The technical attributes are used only in few reports
What kind of optimization we can do?

A. ( Denormalization using generalization 
B. ( Denormalization of the third normal form.
C. ( Denormalization using vertical partitioning.
D. ( Denormalization using horizontal partitioning.
Good Luck!
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